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. g A & wienfigy sifer @ewint ar s e ar
(A) EF B) wefr) (D) ¥am

Trojan virus was rc|cuscd?in numerous SolarWinds Orion Platforms.

(A) Spy (B) Rootat (C) SUNBURST (D) Ransom
2, el s g ez (a1 ) Al o
(A) dlesT (B)_#eifg) (C) e (D) Tirzam

What is the name of Earth's first mlq;‘c'rl;]cumincnl ?

(A) Vaalbara (B) Columbia (C) Pangea (D) Gondwana
3. aﬂ:-mmgﬁm%:wﬁm&ﬁmﬁfia it 2l =01 STV ST TE @ R 2
SGEREEEIL ® (B) w7 T

VEEEE (D) ferm = T

Vieh organization provides loans and grants to the world’s poorest developing countries ?
(A) - International Monetary Fund (B) United Nations
(C) World Bank (D) World Trade Organization
4. éﬁﬁmaﬁwaﬁﬁmﬁf@amﬁmﬁmw%‘: |
;—é (B) THAFT
( JUTTeAl (D) STEqEr
In Vedas, human right is signified wﬁﬁjlhe concept of :
(A) Equality <l (B) Inequality
(C) Economic system ®) (D) Untouchability
5. gl e e i far e feaw & S8 g S e ? |
(A) 153 (B) 16 (C) 143 (D) 13 30
Which day s celebrated as ‘World Af{bay’ every year ?
(A) 15M April B) 161 f&%—il (©) 14t April (D) 13% April
6. VT Gl T STEoE 352 6 w9 | deltd ©
(A) U & T I =HT (B) HiSras <6t fafth st =i &
(C) i |1 5T 3T =Y HTaom & (D) T STTATARIS i ITATOM H
Article 352 of the Indian Constitution primarily deals with :

(A) Proclamation of the formation of a new state  (B) Proclamation of appointment of CJ1
(C) Proclamation of dissolution of’ 611 Lok Sabha (D) Proclamation of national emergency

7. 'q%anﬁaﬂtmﬁmﬁ(SC!ST)G@?ﬁwﬁm@rméﬁ%%mmmmmmmsy
ferar mar ar ?

[(A) ZzemdiEar| (B) T ¥ (C) R 3fean (D) Tefee 3fEm
Which programme was launched bygthe Indian Government to promote entrepreneurship among womet
and SC/ST communities ? - N .
(A) Stand-UpIndia  (B) Start min (C) Skill India (D) Digital India

8. fesam amrsa o w=maEr 1336fi1‘$ﬂ'%ﬁmzﬁtﬂ'§tﬁ'.’

(A), FOEETT ®) (B) e e

(C) &ftE 3 T (D) & um

The Vijayanagara Empire was founded in 1336 by :

(A) Krishnadevaraya (B) Narasimha Saluva

(C) Harihara and Bukka (D) Devarayal
9, TR d IeR ¢ forrehl SEE Fafum)

(A) 20 faferm (B) 15 fafcrm (€) 10 mfer= (D) 5 i

Mega cities are the cities having a population more than ;

(A) 20 million (B) 15 million (C) 10 million (D) 5 million
S e ————n e e
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10. ﬁg@amwmmﬁam&aﬁﬁaﬁmaﬁﬁm%mwumowﬁrmwm
(A) e = 2 nft g (B) T T gt
(C) WHT At st sy afpar s ’if)) gy 1 A A A
Which Indian scheme aims (o provide a pension to unorganized workers, assuring a minimum pension of
£ 3,000 per month after the age of 60 years ?
(A) Pradhan Mantri Shram Yogi Maandhan (B) National Pension System
(C) Pradhan Mantri Jeevan Jyoti Bima ‘|’u_inni:T (D) Pradhan Mantri Vaya Vandana Yojana
1. 7 iRed s N ofwe e am fere MR
(A) St Tafem (B) wtuw, T4 (C) 131Es BTge (D) .37 57, Zehi
“The Chronicles of Narnia™scrics is writien by @!lom ?
(A) J.K.Rowling (B) C.S. Lewis @ (©) Roald Dahl (D) J.R.R. Tolkien
12, TAT %wﬁm@mﬁwﬁmmmﬁaﬁmﬁmmmmﬁnwwm
AT =hT HEAT S T 219 areY feofd weemdt 2 .
(A) FOMTcH SHEET 9fg <] () whaTEEn s
(C) ¥ SEE afy @) (D) e sHEET 3fg
The number of people entering a population through “birth” or immigration’ being equal to the number of
people leaving it via ‘emigration’ or ‘death’ is called :
(A) Negative population growth (B) Rapid population growth
(C) Zero population growth (D) Positive population growth
13. e AT 3T T Fedi (ITEC) Srishe ) Sevd #0122
(A) Tasia arsid & ot e o (B) =1 HeanT AgHl
(C) Hi=fde HEH-ZH I SIgrar e od @,aﬂﬁm@mmm
What is the purpose of the Indian Technical andcﬁ}onomlc Cooperation (ITEC) programme 7
(A) Regulating financial markets ® (B) Enhancing military cooperation
(C) Promoting cultural exchanges (D) Providing technical assistance and training
14. WA ® GSTﬁﬁﬁmm?ﬁﬁ@TQ

The number of structures in India’s GST model is

® 5 @O s
15. WTO o adam Jelf=aerF i & ?

(A) _Femmsiean micsd (B) wif=er g 9ret

[c) =isht stiwi=i-gaen | (D) ufer A

Who is the current Director-General of WTO ?

(A) Claudia Goldin (B) Hernando de Soto

(C) Ngozi Okonjo-Iweala () (D) Eric Bettinger
wftrg Iu=rd 7 AiewE e g forar A o o

(A) wfeet = (B) it feea o8 (C) ﬁ'mzwgﬁ

TThe celebrated novel ‘TIuS'G/odfnthcr’ was authoréfl by whom ?

(A) Mario Puzo (B) John Milton (C) Victor Hugo

16.

(D) ies

(D) Harold Robbins

@)
17. PANF Ui &g IR ? (]
(A) uTgaE 3= Ja (i amar den) | (B) RIS 31T~ AN (SAfRRTa et A)
(C) THIEZ T3 e (AT ETel HEA) S (D) e sraee A (safReTd @A wE)

-----------------------------------------------------------------------

What 15 the Tull Torm of 7N 7
(A) Private Account Number
(C) Permanent Account Number

@)
(B) Personal Account Name
(D) Personal Account Number
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18, et o srevary woneht & few st wn i wa ¥

( (B) wwr A et
(C) Wandrr 3 (D) ] et
The primary source of energy for the Earth's climate system is :

(A) The Sun (B) Ocean currents
(C) Geothermal energy (D) Nuclear energy

19.  wied o faeitr amaraater M a1 it fraes o & 2
h (A urenfd (B) @68

(C) Tt (D) forer st
Who has the authority to declare a financial cmcrg&écy in India ?
(A) The President ;d[l) The Parliament
(C) The Prime Minister (D) The Finance Minister
20. TEEE UTES Had wewl wiwe difsan e Faws, % wom g fum s A0
HTA-fEnis THIT & =10 et e ad § | =
(A) T AT (B) =rdiqer l--lc;a TR (D) EEETHTR
, one of the

Facebook customers can find out about special offérf and on-demand promotions via
most important social media marketing tools.

(A) Post Planner (B) Chattypeople @)(C) Agorapulse (D) SocialOomph
21, Tyafafiad § & St e i s 2
(A) Ge (B) T (C) BTl (D) foeree
Which of the following is the capital of Bangladesh ?
(A) Khulna (B) Rajshahi f_)(C‘} Dhaka (D) Sylhet
22. @ form faA mﬁ@aﬁmﬁwwmmﬁﬁwnﬁm  FY H AT S8 2
(A) 59 (B) 79N ofC) 4T (D) 69

Which day is observed as the ‘International Disaﬁﬂamem and Non-Proliferation Awareness Day’ every

year ? )

(A) 5" March B8) 7" March 1©) 4™ March (D) 6" March
23, TR, e WTdtT RATS 3 A & 2023 ﬁ@aﬁ?ﬂﬁmﬁaﬁ?

(A) gfew i siqfwr wa argEt

(B) TET AGETATS et ST BT 37gaT ©

[cc) et simiia @ sl |

(D) A frarsil wenTst ST ey TG

Recently, which Indian airport received recognition at UNESCO's 2023 Prix Versailles ?

(A) Indira Gandhi International Airport i

(B) Sardar Vallabhbhai Patel International Airport )

(C) Kempegowda International Airport o)

(D) Chhatrapati Shivaji Maharaj International Aiggbrt

24, mﬁﬂmmmﬂﬁwwmé@maﬂq%h]

(Ay Tz aafl @B) w3, s
(C) =3 For 3= [T{D) fatsheh Fefer
Who is the author of the book *“Human Rights and 1{1 wman Wrongs™ ?

(A) Upendra Baxi B) Soli ). Sorabjee
(C) V.R.Krishna Iyer ©D) Chiranjivi Nirmal

_________--_-_--____-..___..---...--.---..--------_—----_-a..a_-.-------a-----------——-——-----.
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FI-11 il wwEar siEH W % am%%tzﬁﬁﬁg-jﬁmtmnﬁ%m:ﬁmaﬂ#ﬁmm
FNS G T T T G HfEa @ 7 ¥

(A) IR SR (n{ﬁ&ﬁmrmﬁim

(C) O writan {I;)_J.(ﬂﬁf?,’m U e
Which international agreement Itncuscs on the pmlcciin&-ijwl' the ozone layer by phasing out the production
of numerous substances responsible for ozone depletion”

(A) Kyoto Protocol {Bl—hcncvu Convention
(C) P;:ris[x’?:rccmcnl (D)(}domrcal Protocol
fereeft 7 TS Ged ™ A o1 9 ®

(A) Feqamy (B) e faersht

(C) FIdRH UaH : (D) e

Who was the first Sultan of Delhi ?

(A) lltutmish (B) Alauddin Khilji

(C)  Qutb-ud-din Aibak (Dty“lb“"
EIEAEEEaRGI AT et ) ol

(A) Seriia Ewfem (BPdFet a1

(C) et wawid (D) efeim

Who discovered Nitrogen ?

(A) Benjamin Franklin (B%ar] Benz

(C) Daniel Rutherford (D}—Richard Gatling

. Frefefas & awh-ar s s ada & 2

Which of the following is the GST common portal ? @)

|( A)  www.gst.gov.in | (B) _wawvw.gstin (C) www.gst.com (D) www.gov.in
(A) Hraffz (B) WTEE VAR (C) femers (D) it g
Which mountain is called the ‘Blue Mountain” ?
(A) Nilgiri (B) Mount Everest {COl‘hc Himalayas (D) Mount Fuji
FI A1 T AT R 2 o3
(A) v et e 5 s e ST & arfm o & OO
(B)  Star faedt 21 1 =18 =0 8 <
l(_g;,. it foreft 29 2 sy 3o fata & st @ s §)Q)
(D) Sfer TR 237 1 A1 Hqfetd afal & ]
What is meant by a ‘trade deficil’ ? ,
(A)  When a country’s exports exceed its imports (\I
(B)  When a country has no trade at all @)

(C)  When a country’s imports exceed its exports
(D) When a country’s trade is balanced

31w e (s et wfe) # gt wrafi s, R e R s Qi el |
AT Fd ¢ [ 3ranst 1 S 2 |
(A) Herw= (B) feetam (C) Fargdt (D) et a1 qEearn
?_\Iamc the traditional form of wrestling in Uttar Pradesh (including other Stafes T Wresuers practice
Ina specially prepared mud pit called an Akhada.
____ (A) Mallakhamb (B) Silambam (C) Kabaddi (D) Kushut or Pehalwani
BXv.gq T e e
SRR TORI 3. g
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32,
froyd smdt A 0 off ;

(A) ZrAEN, (UNEP) () e (UNESCQ) [(O) TREIL (FAO)| (D) Fora 4% B
Which institution released the report titled ‘;1:1;1 and Dust storms A Guide to Mitigation, Adaptation
Policy and Risk Management Measures in Agrict fure' 7 _

(A) UNEP (B) UNESCO @) (C) FAO (D) World Bank
33, el R Y e e e o A 2 b o
(A) arpech T & <] ) AT 1S # ()
(©) gza‘}?ﬁmzﬁm-{;ﬁfﬁ ®) {I)Lﬂlﬂﬂ-ﬁc H Hef & F01 H
Earth’s Albedo is largely affected by the :
(A) Atmospheric layer (B) Cloudiness
(C) Nature of the Earth’s surface (D) Dust particles in the atmosphere
34.  Eiusu = G e g st nd ot 0 —
(A) Treers darfer () |(B)_si=a diewa 3N wiTed 7
(C) WRH=a o (D) Ted e
'ﬂm/ktnl-.mrg of DNA was discovered by whonf®
(A) Rosalind Franklin \] (B) James Watson and Francis Crick
(C) Gregor Mendel @ (D) Charles Darwin
35. o o o e § gl w anda ey [
(A) Hger o= i $fean <] (B) @ i g
(C) wmdia fosid o | @ (D) YA Rz 3%
Which bank supported the demonetization in India ?
(A) Central Bank of India (B) Bank of India
(C) Reserve Bank of India (D) State Bank of India
36. %ﬁﬁﬂﬂ%ﬁmmﬁWMmemmmﬁmmm%P
(A) HIEREfAT : O (1) @
(C) BT ‘;g (D) Ty
Which of the following cybererimes involves dcgﬂiiving individuals into revealing sensitive information ?
(A) Cyberbullying =1 (B) Malware
(C) Hacking © (D) Phishing
37, wifiecr i e TR 9T G ATl TEd TRt [---I__ o |
(a) Al A1, T SNB) wifEh e
(C) wgT e G) (D) wlizary érﬂ?l
The first Indian to receive the Nobel Prize in Literature was ;
(A) C.V.Raman (B) ‘ulronm Naidu
(C) Mother Teresa (D) Rabindranath Tagore
38, S AT e e R
(A) gz (B) 3T (©y afef (D) F=
Which is the capital of Germany ?
(A) Madnd (B) Abuja (C) Berlin (D) Canberra _
BXV-24 T TTTTTTTTTTTTToTmTTTTTITTIIS Page G orq T TTTTTT T T eemeee .-
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AT & | 373 30 =afw e e R e o

(A) T (B) 3w (C) =fam (D), e

A person performing yoga starts facing North and then turns 90 degrees counterclockwise followed by
another 180 degrees counterclockwise. What direction is the person facing now ?

(A) [FEast (3) North (C) South (D) West

e o e A, < ow A o 2w € S Pl e @ 573 qu | v wrer i 3 e foo s feeit 6
o F A oft Tt w2 Hﬂﬁmmzﬁﬁgi)

h RIEIFRICARE ¢ E,
(A) e (B) ™ (D) w1

In the given question, there are two words to the lef{ of the sign :: which are connected in some way. The

same relationship obtains between the third word and one of the four alternatives under it. Find the correct
alternative. e

Sugar : Sweet :: Lemon ; ? [:I
(A) Yellow (B) Juice <1C) Sour (D) Fruit

AR ASB FHER A, BHFTRGTR": ‘A # B'ﬂé@% ‘A.BHIRI2: AxB W42 A BFRIeqgd. @t

Y waxxySURW, U uEfE a0
(B) #i (C) arar (D) |
IF*A § B” means ‘A is the father of B'; ‘A # B* means ‘A is the mother of B™; ‘A x B’ means ‘A is the
sister of B, then how is W related to U in W # X XV§U?
(A) Grandmother (B) Mother (_{C) Grandfather (D) Mother-in-law
" o . 5

42. U {42 e A, 48 F7 31 “which school” # 31 968 F 372 “college and school” ¥ | =51 ¥ o iz =1
22
In a certain code, 48 means “which school” and él‘i means “college and school™. What is the code for
school 7 1
(A) 4 (B) 6 Ho s (D) 9

W, Fefafe jaen § o e s # 5 K ¥ ot T2t ikt K 3 2 2 oy ¥ 7
How many ‘S" are there in the following scries thafbme immediately before K and immediately after K ?
SSKSKSRKSPOKSKSKS
(A) 3 (B) 2 (C) 4 (D) §

.. i
“ L xeymwmafeX, yfai| JFQX V73
: ’ g

2 Yszifmamafry, za ) O 19;;‘;'
oz AsfmmR Rz, AR % =
A o aftar i far e 2 0 p
(A) A (B) Z ‘\1(‘) X (D) Y
. X #Y indicates X is the mother of Y. ®@)
2. Y $ Zindicates Y is the brother of Z. [:]
3. Z* Alindicates Z is the daughter of A. <f|
Then who is the father of the family ? (E]‘
(A) A ®) z Yoy x O Y

BXV.24" T e e Page Tof24
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45, Feaferfercs wid-and vek s A v i G o s e S g ® ) s wr s S s
IF ST YT W 7 3T A |

fasedh ypeaven 5 wwtar of @1 dret i = it i)
AR e

ftae e
10%

e gereht 1w AT AT 2 i o e = 40,200 2, A3 R 3 wem o e e s
(A) 21,000 (B) 22,800 [(C) 720,100 | (D) 22,500

The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a
book. Study the pie-chart and the answer the question based on it.

Various Expenditures (in pgrz'c'm‘age-) Incurred in Publishing a Book
Promotion Cost
ol

10%
inting
%05[
r 0%
-~
® |.
Paper Cost
25%

Transportation Cost
10%

Binding
20%

If the printing cost for a specific quantity of books amounts to T 40,200, what will be the expenditure for
promotion of these books ? g

@)
(A) T21,000 (B) *22800 05 (Cy ¥20,100 (D) 22,500
3

mwwﬁimm«mﬂﬁwﬁﬁmm@ﬁﬁls firre 3 & ugadt @ | 38 e = 3k
W%zﬁaﬁaﬁmmﬁmawmnlmmmﬁmm%?
(A) 44 firge (B) 45fme| © (C) 35 fime

(D) 48 fime
Walking %"' of her normal speed, f\lhir;m IS minutes late in reaching her office. What is the usual time
taken by her to cover the distance hcm*cml\l :r home and office ?
(A) 44 minutes (B) 45 minulm:iaJ (C) 35 minutes (D) 48 minutes
il s i x ait y %1 W @ A

Find the value of x and y in the following series :
U4, RR, 016, x, 164, F128, y
(A) K24, D345 (B) G32, E256 (C) L32,C256 (D) M32, B345

Page 8 of 24
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48, Foan v ard-ed v it A sive] A afevra fowrs anfar ¥ ) 2@ g P e & B afran £ e mt
311‘!11‘32.500%.tﬁﬂmaﬁtqﬁiﬁqmﬁg?ﬁmr&:g?}:ﬁnémmﬁm A ‘

UBAMAT 51 ]

(A) T12.200 (B) %18.500 °F ) =11,700 (D) #11,000

<
The pie chart provided shows the percentage breakdown of a family’s domestic expenditure. If it is given
that the family’s total monthly income is T 32,560, then what is the total monthly amount spent on food
and entertainment combined ?

Domestic Er%‘) diture of a Family

Provident Fund

House Rent
18%

(A) 712,200 (B) * 18,500 © () 11,700 (D) % 11,000

49. uF Tt &, 30% Farh afeemd § | 60% nfeen Fiend s 400 gev e fafe ¥ | s ¥
siferanfe et 1 afae@ e 2
In an office, 30% of the stafT is female. 60% of the female stafT and 40% of the male staff are married. The
percentage of the unmarried stafl'in the office is
(A) 46% (B) 52% (C) 48% (D) 54%
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3¢ R= 1% DEEP o0n I79axsy
3/ 3.2, yes te 1951
Ex e = =
19 E S =17
50. 11 "een aret vk R d @ wee 29 ot i oz wm & ww ad g2 2 ) aft wae i
e f mﬁﬁwﬁmm,ﬁﬁn%m#ﬁmﬁﬁﬁmm@mﬁsﬂmm&%aﬁm
21 2 A st s
(A) 23 (B) 21at (C) 22 (D) 247
The captain of a cricket team of 11 members is 29 years old, and the wicket-keeper is four vears older than
the captain. If the ages of the captain and the wickttkeeper are excluded, the average age of the remaining
players of the team is two years less than the averi@e age of the whole team. What is the average age of
the team ?
(A) 23 years (B) 21 years -.ij'] 22 years (D) 24 years
51, SHEAM TS AR | )
Find the dismfn lar term. D
3X3, 4U3, 2R4, 302, IM3,
(A) 302 (B) 2R4 ‘“)c] 4u3 (D) IM3
52, SN T ara ifs )
Find the dissimilar number.
13 12,60, 340,
(A) 340 B 3 (©) 12 (D) 60
53, Fefafaa d 8 Da emai =iz L1
Which among the following is nota leap year ? ) “""‘?“EHL Ytey
(A) 2004 (B) 2024 ~AC) 12020 (D) 2014 7l
54.  Ieafem fran =y 3t sy aren =hE mmﬂm%'q e o Far @ 0
T (A Imafim (B) T AC) Efemod (D) zfamnfim
A person walking towards North-West direction sees his left hand in which direction™7
(A) North-West (B) North-East (‘t‘('l South-East (D) South-West
55. Hm@en9, 72,243,576, i Hifew L
Complete the series 9, 72, 242, 576, | A C\'I
(B) 998§ ®IC) 1250 (D) 876
56. a2 DEEP 1 30, SEA #7 25 #mﬁ%ﬁaﬁmm%ﬁmvmﬁrﬁqwﬁﬁﬁa%mam,m?
I DEEP is coded as 30, SEA as 25, then RIVER will be coded as
(A) 15 B 77| (C) 20 (D) 56
57, afd ' wrad e R, | 345 R
I # stands for 'x’, what is 3#5 ? ®!
(A) -2 B) 2 offC) 15 (D) 8§
58. X a~b=al+barb=b2+aR @3~ 6) " lﬂﬁfﬁml
If a~b=a’+b,a*b=bi+a, find (3~6)"2. "_“
(A) 23 (B) 18 Tic) 21 (D) 19
9. a2 3 10 Preft 2fen o o =t ¥, R 90 Farft 2§ biw w3 ¥ o 6 Poeft P ar B, 71 oo i fie &
RT3 S i fefy o 2 ’
(A) 1.6 Frdt il fam & ém 9.6 et wifie fg &
Oy T0TeaT o 92 1 D) 6 i wrifir fez#
What is your final position in relation to your starting point if you have walked 10 km South, then tumed
90 degrees to the left and walked another 6 km ?
(A) 116 km from starting point (B) 9.6 km from starting point
(€©) 10 km from starting point (D) 6 km from starting point
BXV-24 T e e
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& oy
60. T FAT H, 60% T 3 fraew A wr il 40% F e B Y vz fran ) afz e 500 e 4, @ fra

A A fameg A 1 gz B o

In a survey, 60% of people preferred Option A and 40% preferred Option B. If there were a total of 500
respondents, how many of them preferred Option A ?

(A) 200 (B) 400 (©) 100(&: (D) 300
61. & dHE smer § el wen A | ol
Find the next number in the given number series. <]
126, 112,98, 84,70, @)
(A) 63 (B) 56 53 [_] (D) 64
62. ﬁquﬁ\fﬁvﬁéaﬁqﬁqa}tﬁﬁqﬁﬁvﬁﬁtﬁh w@rmrm%s%‘ |
o - U e M & e o fow = |
Frerd - ®
1. O ot =1 = ofR fe @ s us s At R |
2. SEATHATAE |
(A) Fadferd2m=d (B) Tt fremd | a2
(C) =Fad =i | g1 (D) =M1 v 7= &
Read the Statement and Conclusions given and decide which éf he statement(s) is/are valid.
Statement : An apple is good for an individual’s health. 02}
Conclusions : N
1. Apples are a good way to keep someone healthy and ﬁt.<l ‘?}.)
2. Grapes are better than apples. G) :,__ 2
(A) Only Conclusion 2 is valid (B) Nciﬁz_clr Conclusion 1 nor 2 is valid *: ;f_
(C) Only Conclusion 1 is valid (D) Boﬂﬂ}nc Conclusions are valid Qﬁ:‘g <
63. v U aTgEE § N HE I i | ® e A 8
Find the missing number in the given analogy. =
25:625:: 35 : _;"“
(A) (B) 1225 (C) 825 (D) 1115 : jf
64. uﬁn‘:zﬁm qjﬁaﬁtﬂzaﬂ%wﬁmﬁaﬂmzs faft armad o s, a7 wwa amﬁ‘mﬁm?tggﬂ /35—
a3 # O =
(A) e B) I ) @ % (D)_ufim ers
What direction are you facing at the moment, if you start by f’?@\‘ng south-easland tum around 223 degrees
anti-clockwise 7 \ /75
(A) South-east (B) North-east (C) Ezlsl@ * (D) West e
65. @ famkey ra ifsr sit v o % w=rmr av o | ] ) €25 C
Find out the ‘lllcmmivc which will replace the question mark. I
12:26::7:24 N ne
(A) 12 (B) 9 © 8| @ (D) 6 ”E
66. S sien i I 31AR wE 1 I e 3,
Find lﬁ'ﬂ letter CILIQILE{FHIL given series. /{gi" 2 -
DA, HE, NK, RO. XU, __ | ARrS
(A) BY ' (B) AY (C) CY > XY e
BXV-24 Page 11 of 24
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67.

I\' (A) (B) (©) (} (D) @ O
63. 40 et e, 201 et o P 2 30 15 s < &, i fter e | e o 2
8 o Fremdt 3 o A i, e Fra, A B 1 3 Prenfit g wr A e T
AW Sft fagm 2 & = o
In a class of 40 students, 20 have chosen only Biology and 15 have chosen M .Iwmatlcq. but nnt_Blﬂ'“Ll}“
Given that every student has chosen cither Mathematics, or Biology, or both, Tind the number of students
who chose both Mathematics and Biology.
(A) 15 (B) § (C) 20 Ly 40
I . -
60, i i i fo e 73T 8 v P 1 PUNISHMENT 3 St 1 i v
T & | ®
Determine which of the provided words cannot be formed using the letters of the given word
PUNISHMENT.
(A), PAIN (B) SENT (C) PENT (D) PUSH
70. TG G HIS ;
Sl ?LFJZ  WE O
(A) =t (B) 1 (C) W :ED] et
Complete the analogy : (\l
Engineer : Blueprint : : Chef: Q
(A) Ingredients (B) Kitchen (C) Menu [ﬂD) Recipe
71, ST ST FTERT 2 4
‘7 What will be the next letter ? N
B B 7 ®
(A) P (B) R (€) O (D) Q
72.  frefefia i & F-81 S H2F e R 9
(A) Freeft - = B) T - Wi
(C) a1 — s (D) W - ek O
Which of the following pairs is difTerent from the others ? g
(A) Cat — Meow (By Cow — Bleat y
(C) Dog - Bark (D) Lion — Roar <
73. am?mrwmmwﬁﬁuﬁﬁmmﬁxmmﬁ?ﬁvhtﬁt%Fﬁm@f‘mﬂwm
R -
(A) FTHER (B) @A (C) T <b) s
“The company's decision to downsize was prudent.” What does the worttd)prudent” imply about the
company’s decision to downsize ?
(A) Wise (B) Careless (C) Reckless (D) Hasty
BXVy T T e 2 af 2y T

Frferfiaa 3 & A\ anve A, el Y s lte s o] A e sy e A i 2 7

Which of the following diagrams best illustrates the relationship between Pigeon, Bird and Dog *
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74. PI3RQ,sHEFTHEIPpF Raraddo

TH T H I o forg w0 (1) 3t (2) 3 A w0 sravas 8 9

() R, PEHEWERIART T AR

(2) U, Q#FuiR

(A) FT (2) B) (1) 3fk (2) i (C) e (1) (D) ATaT (1) 7 (2)
P and Q Qc children of S. Who is the father of P ?

To answer this question which of the uhlcmcntq (1) and (2) is/are necessary ?
(1) Riis the brother of P and the son of T.

(2) U is the mother of Q. "”
(A) Only(2) (B) ()and (2)bdth  (C) Only (1) (D) Either (1) or (2)
75. ﬁquﬂﬁﬁﬁaﬂvﬁmwaﬁaﬁiﬁmmmﬁﬁmmw&mmmxwﬁ?zﬁ

YT §4 YT T2Tq U ATl 3162 )

I.  HRETIAGVSN B

II.  FLNESAGOMI )

. EXSONHTIAU <]

(A) FaAII (B) Faa i, |€© () i1, (D) Fae I

After exchanging the 3™ and 6™ Ietters and the 41 and 9™ letters, as well as the 51 and 10™ letters in the

given words, which series would result in a meaningful word after this rearrangement ?
.  HRETIAGVSN
II. FLNESAGOMI

II. EXSONHTIAU 0
(A) OnlyIl (B) Only II, HI Oﬁ (C) AL I I (D) Only IIT
g g R o}
Efﬂﬁ ATGHT - IS : ? <|
(A) BT (B) wfa @ (C) & (D) =@
Complete the analogy : 5
+ Thermometer : Temperature :: Odomcl;rl: ?
(A) Pressure (B) Speed ] (C) Weight (D) Distance
77.  SEYH G@A FT B | @®)
Find the dissimilar numbers.
(A) 9,12 (B) 5,20 (C) 15,60 (D) 10,15

78.  frefefiaa sfe i B i den g@ Af)

Determine the number of triangles in the following figure.

)
efl
of)
: ®)
@)/ 13 (B) 7 ] ] (© 16 (D) 9
79. ﬁqwqﬁarmﬁuﬁzW(W}mmaﬁ‘tﬁm|
(A) A (B) s @ |© ¥ (D) w3
Find the odd one from the given alternatives.
(A) March (B) July (C) June (D) May
BXV2R T T e 13024
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g0. oy 1w R At @ s N o apegeren e 7O, SRR 101, v & i R ) e s
o aite 3 3w s A By v & e oo e wife |

Figure 1is related to 11in a certain pattern. Following the same pattern, figure [11 is related to IV. Study the
pattern and select the answer figure which should be p!:wcd in place of IV,

(J
*
j ‘\( ) ° ¢ oo K ° nﬂ')
D ° D o Q Nk
S q D|
I I 111 (-j}IV
I IATF ¢ ]
Answer figures : ,fl
a a @ (4 K
(A) ® (B) K (C) O] (D) O
i A | o) K d

81, < v fumi =1 spema AT

Study the figures given below :

\J

o

?

®
et feg e foit 3 e form e it @ e e, et 1 vt e 3 fore erdt g v

From the figures given below, choose the figure T.]:].E‘lf] will be most suitable to continue the pattern given

above. ®)
I I 1 |\(:)5 v
(A) V (B) 11 @) (D) 1
82, 52 Wi ol U Tl & T e c‘aﬁ’lmﬁmﬂw%?[;;
g
What is the probability of drawing an ace from a puqk_ﬂm‘ﬂ cards ?
n = )
25 [,g? 52
1
&) = e
© 13 (D) 13
BXV24 T e M of 24T
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83. A omd shrer i syl amgfy s A
Find the next figure in the given series,
& sje -

Given series ¢

100

> ®

(A) (B) U (D)
__‘1 {J
84.  sjer i faw (iirg) 7 ma o ®

Find the odd one out in the series,

Al, C9, E25, G49, 189

(A) C9 (B) E25 r:.u‘](C) 189 (D) G49
85. e H ST HE e i | ;‘j.j
Find the next number in the series. _,.:l

145, 155, 175, 205, 245, ?
(A) 285 (B) 300

(C) 295 (D) 290

86. M AFATITH, T3 a@ﬁﬁwzﬁﬁqm@:mlﬁ:aaﬁm@m@mm

Out of the given figures, find the 3 figures that mll fmm a square, when fitted together.

A T
P Y »ﬂ[‘;‘r
I I 111

N =2

AV y
'\.
(A) LILIV m;,(m I, 11, TV g\
S 2 W
©) LILIV D) L,
<] I"
87. A.CHFIAE: CIHNQaAEAE; Z, Qaﬁ‘mf’*aﬁw,fr%%zr | P it @ A e
[ (A) P AFTwmE| Ly costep et ) F Gz
(C) P3N A FIUE (Fm) F ) ](D) Q. AFIAATR ' _;_’,_

(%] : i — . . .
A 1s the son of C; C and Q are sisters; Z is the mother of Q and P is the son of Z. Which of the following
statements 1s true 7

(A) P is the maternal uncle of A, (B)Y C and P are sisters.
(C) Pand A are cousins, (D) Qs the maternal grandfather of A.
- e e T T i e s
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88, v wfiten 3 e, At s Y s S o 3@ aa B, dr seR i fy oy 3 firet storft | w2 3 s
I 3 A T Star Ik A Al e e Ao H TR

(A) 457 (;iun 63 7
),
(C) 36 offl(D) 54t

A lady said, "1 you reverse my age digits, you'll bget my husband’s age. He is older, and the difference
between their apes is one-cleventh of their sunl.“lelml is the man's age ?

I\l (A) 45 years [ I{H) (3 years
(€C) 36 years ) |{I)) 54 years
89. 2PHHT‘*WWW%Q| ©)

Find the next number in the series

16, 10, 20, 14, 24,

—_—

(A) 18 (B) 12 (C) 28 (D) 16
90,  IW TIe2 I TAI OGS He W Heifirg 78 2 | O

(A) g ) (B) fe= o3 (¢ (D) 3=

Find the word that does not belong to the set. /,]

(A) Lead (B) Tin G;)(C) Copper (D) Steel

91. @ﬁmcﬁﬂﬁmﬁmﬁwmﬁﬂmwmﬁiﬁ}mm@gm () &1 W=z fr S 2
TROTH} ST (8-S T ST TR <]
(A) wEeE () @)(B) _|iTeT (msten)
(C) wfoaen ergywram) (D) i (uferem)
A cylinder is intersected by a plane inclined at an angle of 60 degrees to its axis. What is the shape of the
resulting cross-section ?
(A) Parabola (B) Spiral
(C) Hyperbola { 1(D) Ellipse

- = - g M ] —
92. R T H, qir Sfaamh o il 43 & v, A B, s it uead | ve, frw e § 76 2 1A
TR S SfS R A AT R | Ue U B AR # | 2fre, wead 3 et 3wl ¥ | e § 0 A 2o
(A) = (B) e @ © 3Fs (D) frm
In a conference, five participants are seated in ["(']w: Alan, Bob, Chris, David and Edward. Alan is not
next to Chris. Bob is seated between Alan and David. Alan sits on one end. David is not next to Edward.
Who is seated in the middle ? “

(A) Bob (B) Alan @)(C) David (D) Chris

93. Al ‘BEAR' T 25-22-26-9" % &Y § Fifed R smar 2. a) *TIGER” i ¥ Ffed frar s 2
IT*BEAR’ is coded as *25-22-26-9", how will *'TIGER’ be coded }\

(A) 7-9-11-4-17 (B) 8-9-12-3-17

al l_ - . N _ N B N

(C) 9-10-13-6-17 Jpa?lxzuzz?
BXV-24 T T e 16 0124 TTTTTTTomeemmesmssesmeseieoe
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. o v d i wewr wewEit & o et e R

a. 323 A28 Fd FHali |

b. T a1 M 3Ea | .

c.~ m-g){:q-aﬁ%?mmﬁmﬁﬁx%wwl

d.  FTEH 509 W =17an 25 34 | °?

. 7 ke 5 pG Y R, A e A R e B S ST A |
a3y s, e e e e

g ﬁmmmﬁmmmmﬁwm%ﬂmﬁﬁ%mﬁﬁmm
21 ‘
()

Wmimmmm%mﬂnﬂmﬁmm?

E?m 68% ST 5 HIA MCA | 37 30 & | S o &0 3 2.5 @ 7 3P | 320 7 40 335 TH
|

(A)  IPHiEaT T SR HeT e o Y 1 AT S Y
(B) I AW

(C) T &% o 29 1 He ST &
(D) ITEar =1 =537 T foman AT 8

@ A &&O

~ Consider the conditions for selecting faculty membcrﬂ a computer education centre :

a.  Age between 23 to 28 years. (]

b.  Work experience or programming experience. ©)

c¢.  Postgraduate degree in computer application with at least 60% marks.

d.  Minimum of 25 marks in the interview out of 50.

e. . If the candidate does not have PG, the case is to be referred to the senior faculty member.

f, If the candidate does not have work experience, {19 case is to be referred to Principal of the institute.

g.  Ifthe candidate satisfies all other qualifications 'e&t:cpl the age limit, the case is to be referred to the
Director of the Centre. ol

L

Which course of action should be taken for Babli Sarkar \mscd on the following intormation ?

. . . , () : . . .
Babli Sarkar : MCA with 68% marks. Age 30 years. 5)5 years of experience as a programmer. Obtained
40 marks in the interview, -

< .
(A) Candidate is to be selected as a junior faculty mcm}Lcr
(8]

(B) Data is inadequate

(C) Case is to be referred to the Director of the Centre

(D) Candidate is not to be selected

JBXV-24 Page 17 of 24
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926.
f\' 97.
98.

99.

g A
(A) degE () b

S AR AT R 3 3 A

(A) AT e e

(C) 331 el ek W 32T

37T o 3 aferl A anr i ad

(A) el anq &

(C) AT HEt

"I T freiig 1es F R 0

(A) Udq (B) 3
e, e, deam dad e d o

(A) s far (B) 7@ foF

. 4. 100 104 T O

€1 T FH SFEAT R, W Hord Tee A I6t B el & Fwh e i Iww S0 2 2 | 9 o T wwd & s A
mmmwdﬂfﬁqﬁwﬁé% St TR 39 P i o7 A # R el w A e P s e AW

fﬂ?‘lﬁ?'ﬂﬂ‘ﬂmlWﬁmﬁmmﬁ@qmm%aﬂwvﬂﬂ&mﬂﬂmrﬁn. FTT I AT
A ¢ W?ﬂmﬁﬂmwaﬂtﬁéummmmmmwsﬁ?mmuw«--:m:n.

(€) farg

(D) =7EhfR
S

(B) TS AT T30 FTAT
(D) TP 7T 24T
@
?m A A Zh
(D) =t ey 2

<

%C} PEIE ]

(D) Freme

(‘:l(f] T

(D) FFa=+

@

@

aﬁﬁﬁﬁmﬁmmwmmmm%a@ dmﬁéwmﬁammwm 2T fs s

106.

FA H gy 3 mﬁquﬁma‘rmmm
100. 37977 1 F1 S BT R 9

(A) FHEH (B) Tt @
TN T 3T ST A BT
(At (B) 3=
(A) STAMT (B) =T

. T S A

(A) uTiET s e

(C) faeeiz=gmEs|

. TTEITT 3 T S A S 0

(A) F=a1 (B) TeT

T FE R R i R o

(A) a8 Fan 4 feraar g

(C) T = HeT T |

‘ST T AT e R
(A) r{mﬂ‘rrgam

(C) TF 3N qur

107. F=fafaa § sem

(B) afigor

TRIaT |

@_C) g+

D) FfmaEd

E’jp:‘) B2l
®)

(C) ®TT

(B) Surast g @
(D) Hfafm)

Q
HC)

‘\l,n T Ao e ¥
Clp) 7z H gerw

Q

~
‘\lu) T 3R ez

(D) =TT

(D) EHmET

(D) ¥Eg

q“_?l TSTeT 37T AT ST @I

(D) =®

Page 18 ol 24
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108, 0. (FT) & ¥

(A) Wi frdt e

() fureftaror

(C) gl da () L
109, @i F a1 g R 0 o

(A) =R (B) s o3 () fa (D) e
110. Fafafaada o) fgaRardy <

(A) N faam UPREE RS @ () are frm (D) Frdars form
111, I 3 TR T 9181 % =1 g U ¢ | AR CE o 4

(A) we9a (B). fraaft < () dam m
2.

T % wies & fo anfee mﬂwﬁm:@g@rtﬁﬁmrm?

(A) TmwEmfEsr  (B) s [(C), = mr (D) M= fm
113, F=fatas st § & v 1 e sl 2
(A) EE (B) 3R (C),- fT (D) =

114,

Frfafen § & g F s s s Ak (O
(A) TUeet dmam 1 e =2 @ | ol (BLATBE HIFAT I FHel 52 7 |
(C) T QTR 1 #hel 58 ¢ | o3 (D) Tad divan F S A AT |

115, ffafaa amwi § 8 Frmam E e

(A) W71 HeA W 30 e arost & A9 & et (©)

(B) ’TTHTEFHHW'MUIEFWWW%I_ID

(C) TH w1 &3 9T H HAecdl YT 23 |

(D) wﬁmmﬁqa‘iﬁmfnﬁ?ﬁf‘aﬁ?ma@w%l
116. ‘F& & Frd & - saam & | e s # w2

(A) (B) 3R (C) H (D) SferwT
117, ¥ %] FIE ST S | a3 12 WeE -1 8 2

(A) T&l (B) & (€) (D&

: ; Q

118. fow o AwRrw F fou v wee B oS

ST T A ST HE ol

(A) 3FeTH (B) mwfE Q (C) i (D) e
119, fwn-Fagmor 3 e it 39 Fareror 1 Pl @ wa-an g ad 7@ @0

(A) wwaar fFar-fagm - s

[ |y ol e T |
T el

(C) Tz forn-fagm - au .\] (D) feafaamue Grn-fagivor ¢
120. R H e aE @ ®
(A) v (H}/W’ﬁ (C) FM (D) faom
121. ¥fra =1 faem am
(A) T I(Ii} E (C) 3vg (D) T
122. “HWE ¢ A8 G R e 20
(A) T T (B) WRREEE (C) ol e (D) e vifer
I3 T S T
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123, Frafafaa & uw Aoy g ‘

(A) WEw (B) W ) (C) & (D) @
124, FEfE w5ty fye i g ol
(A) 3R (B)_ah “d (C) Frafa (D) 2fry
125, HEm % e & wlar I
o (A) R @ e @ () R (D) #9d efrer 2w
N 126. gﬁwwwﬁﬁmw&mﬁﬂﬁsﬁﬁﬁx{ |
(A ufy - fmr (B) fFor - afom © (c; el — e (D) “fim - 3=
127, ST T o oIl o 2 “-”
(A) =™ (B) i [(:1 PL] (D) 74T
128, “WE" v1a2 &1 ST Ty g o
(A) =t (B) e (C) weedt (D) "&H

129. 2013 % *Frersier v (3wmmmay' & ferm wnfeer sraprasdt qremm fora fom w0

(A) HIT 7 e (B) wwaar iy o (C) Sizehia Zared (D) ‘1??”"'
130. ﬁn%%anﬁmﬁ-maﬁnﬁmmmm@

(A) @ |u3) C | ) = (D) &
131. ﬁmﬁ-rﬁgﬁﬁamh-mwm%"

(A) 3T (B) 3@ |c,) (D) H=T=
lsz.ﬁmmnﬁnﬂnarfﬁmanaréuatﬁmhwg R T & 75% TN i I feed ¥ oAk
30 = # 37fu 37 F 135 7o 4fhw 3, ofl ST 5 ATt o1 et Fee Fra 2 0

In a factory, 60% of the workers are above 30 years and of these 75% are males and the rest are females. If
there are 135 male workers above 30 years, the total number of workers in the factory is

(A) 200 (B) 150 (Cy 300 (D) 180
133. qmﬂaaﬁtﬁrﬂaﬁm%aﬁmwﬁwﬁsﬁa%ﬁloﬁaaﬁm@ﬁﬁﬁmm%ﬁﬁaﬁgﬁmaﬁ
whmaF 22 (

A 20% reduction in the price of an apple er I les a man to buy 10 apples more for % 54, Then what is the
reduced price of apples per dozen ?

(A)Y T12.96 (B) T 1448 ‘\"| (C) 1432 (D) ¥10.80

134, e firema 1, mﬂhmﬂaﬁx-ﬁ%a@mﬁ‘ﬁmm%aﬁtgﬁﬁmﬁﬁa: | % Hqurd & firemar smar
& | &Mt fremat 6 annft #1 uw A g 3 ﬁ‘ﬁﬁmnm?n%qmﬁaqqfinm&a:mhm’rl:m

ST H & 2 \

In a glass, milk and water are mixed in the(rdtio of 3 : 5 and in another glass they are mixed in the ratio of
6 : 1. In what ratio should the contents of the two glasses be mixed together so that the new mixture
contains milk and water in the ratiool’ 1 : 1 9

(A) 8:3 (B) 25:9 (C)y 20:7 (D) 27:4
135. 72 e 1 764 o 60 [Edahi & (g g & s @ | 91 e ufaera g o
The cost pnu, of 72 books is equal to the selling price of 60 books. What is the gain percent ?

(A) 16_;"" (B 8-9% (C) 20% (D) 18%

TR S - e e e e

Page 20 of 24 |
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136. Af % H 7 50 7 60 6 7 2 wliar st @ o v 60 3 50 77w @ A=A {, @ eyl o d o

If bananas are bought at the rate of 60 for T 50 and sold at the rate of 50 for ¥ 60, what is the profit
percent ?

(A) 42% (B) 48% (C) 66% (D) 44%

137. 12, 18, 20, 25 1 Saw GHa (LCM) 1 R |
Find the LCM of 12, 18, 20, 25.

(A) 880 (B) 920 (C) 860 (D) 900

138. % DAV W T R Rt o 4, 6, r;;()gn i 12 & Frnfera fran stren 2, ar mit fafert F 3 9
TAATR | !} o}
Find the least number which when divided by 4, ﬁ_,’,-:, 10 and 12 leaves the remainder 3 in all cases.
(A) 132 (B) 117 @ ©) 123 (D) 120

139. A u ffera wrd 1 120 Rt @ wehan &1 B, A[F]607% 3t Forer & | dr 34w # FE F fom B T
et e a2 <
(A) 80 fe (B) 70 ) (C) 75 fem (D) 102

A can do a certain job in 120 days. B is 60% moré eTTicient tham A. To do the same job B alone would take
how many days ?

(A) 80 days (B) 70 days (C) 75 days (D) 10 days

140, @ =4fth 600 fFHT 1 0 g% grn 80 foRefl/He =6t =mer &, 800 fpft gas sterst 211 400 fopfirie 1 T 7 H=T
100 Torrt Ao fiet grr 50 frfee = & o w5 & | 4 gl gh ¥ o sftea e e 2
. . o . 5 .
(A) 130% fEfiaa| (B) 62 et o2 (C) 65;-;5 i (D) 60 ]—'1- B iforas
A person travels 600 km by truck at 80 kmﬂf.:h[}(l km by aeroplane at 400 kmvhr and 100 km by
motorcycle at 50 km/h. What is the average speedfpr the entire distance ?

(A) 130% km/hr (B) 62 km/hr D(C) 65% km/hr (D) 605; knvhr
)

<
141, U HREE ¥ 25,220 I A & 3 7€ U, a7 39 AN ad ave of wwr i F O anww wad @ | afk et

ST A A 5% 2, T Wedeh o il ged 1 FIf |

A woman borrowed ¥ 25,220 and she returned the money in three equal instalments after one, two and
three years. If the rate of compound interest is 5%, then find the value of cach instalment.

(A) T8000 (B) %926l (C) 8261 (D) T9.000
142, A Forefl o6 o1 q et F B o T i 50% iR w S & | A A e e g w27 R Aa
Al B 379et &1 399 faae g e 9 o

(A) 35T (B) 4sfe ﬁd () 30fes (D) 40 &=

A takes 50% more time to complete a work ll1ﬂﬁ~il. If together they take 27 days to complete the work,
how much time shall B take to do it alone ? @)

(A) 35 days (B) 45 days | | (€) 30 days (D) 40 days

143, =TafE =T T E 3,000 1 Tl A At 7 7 6,000 Sl & | a1 ww ad % ferg sare frn & 2

A sum of 3,000 amounts to T 6,000 in two years:al compound interest. The interest for four years is
(A) T12,000 (B) % 3.000 (C)y T9,000 (D) 6,000

" S P W T W T e S A £ e AL L T e R S S
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146. A, B a\th@ﬁmﬁﬂwﬂmﬁwaﬂtmﬁﬁﬁaﬂmﬁ 43 97| 4 98 F A2, B T ¥ 1,000 S
frarr i 3t 8 wél 3 =, © 37 2,000 sifeifees Frater fob | o ookt 3 o7 H, T SIS 2 14 11,
AT I | C 1 B I Hifsm | .
A, B and C entered into a partnership, and their |[1}Jcslmcnt ratio was 5 : 4 : 3. After 4 months, B invested
7 1,000 more and after 8 months, C invested ¥ 2(.'660 more. At the end of one year, if the profit ratio was
15: 14: 11, then find the investment of C at the beginning.
(A) %6,000 (B) ¥7,500 (C) %3,000 (D) %4,500
147. @H@Eﬁﬂ.xwﬁm fovea L W%ﬁ%ﬂﬁé‘ww% Y - trﬂﬁ Wmf“m?—*r‘moaﬂvzw
w&%{vﬁwtﬁﬁﬁ%mm% lﬂﬁaﬁ%:ﬂﬁn@ﬁWf 23 onn% a‘r Y 1 e g 2
Ly
In a partnership, X invests F M of the capital for ‘éah of the time, Y invests % of the capital for E—rd time
) - 3
and Z invests the remaining capital for the wh‘oll time. If at the end of the vear the profit eamed is
% 23,000, then what will be Y’s share ? "Q
(A) T 5,000 (B) 4,000 U(C} ¥ 5,500 (D) 6,000
148. Af a b, ¢, d, e 9= FHTTE famy HEA E, Eﬁmﬂtmaw%'w
If a, b, ¢, d, e are five consecutive odd numbers, *thln their average is
abcde
(A — 5"' (B) a+4 (C) 6(at+d) (D) 9(a=b+e+ d + e)
149. i st i F, udt veelt A g i ded A fart @ 1 af dE e w st 44 2, @ v ad e
FEY
Of the three numbers, the second is twice the llmt rgnd thrice the third. If the average of the three numbers
is 44, the largest number is 0%
(A) 72 (B) 108 4(C) 24 (D) 36
150, 2 3T gt F 2025 e fipgor o, maﬂrqﬁﬁma@m 12: 13818012 Hé:aagqmqauaﬁwm"rgas@
wﬁ:wwaﬁ%%vﬁmﬂmﬁwﬂﬁmaﬁfﬁwm
(A) 1627 (B) 150 ¢&fex _(C) 160 T (D) 156 &t
In a 2025 litre mixture of milk and water, the ratio of milk to water is 12 : 13. To get a new mixture
containing milk and water in the ratio of 12 : 15, the amount of w ater to be added is
(A) 162 litres (B) 150 litres (C) 160 litres (D) 156 litres
BXV-24 T T T page 22 0f 24T

T 3 iR T T 129 o) v A S, e AT 219 e s e ¥ | af aw o gz T g,
at &g v sy a1 wo o

Afler giving a discount of 12% on the marked price of a book, a shopkeeper earns a profit of 21%. If he
doesn’t give this discount, then how much profit would he earn ?
(A) 25% (B) 31.5% (C) 40% (D) 37.5%

@Wnﬁ%ﬂ‘t%ﬁﬁmqﬁm 10% ot g2 ar & | 7z Feft o671 1 TS % 3.600 2, A SR T
ST T ZTam 109, T2 33 % w1 20 w1 any 3FF w5 5 |

A shopkeeper allows a discount of 10% on the marked price of a camera. If the cost price of the camera is
3,600, find the marked price so that shopkeepergdn earn a profit of 20%, after allowing 10% discount.

(A) T3.650 (B) %5,700 <) z4,800 (D) #4,750
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